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He is believed to feed him Terumah - TTAIN2 YONRTY TN

OVERVIEW

The X713 cites a Xn*>72 in which °27 was 79v» a person 1737 (for 77170 only, but
not for 1PomM”) based on the testimony of his father. *27 explained that the father is
believed 7170 1922817, since it is 72170 19228712 17°2 (but not 17°2 to marry him to a
nomn). Our MooIN reconciles this ruling with a seemingly contradictory ruling.

mooIn asks:
- (0w 3,09 97 PYYTE) PONY NIVY P93 1INT 53799 13 PNYY 1939 AYPH
The 2''2%9 asked; we learnt in a 71w» in 99171 7Y POD -
- Hnux NN 053 1Y X¥AN ITNYIY D31 NIPTNY INYNY NIN RYOY )
A 172 who left with his wife overseas, and when he returned, he brought
children with him and his wife died -
- 1933 5y INY NYaANY PN
It is necessary for him to bring proof regarding his children. This concludes the
7IWn. NDOIN continues -
= N9 0NN NINTI N1MIINA BHYINNY JINI 139N)
And he is not believed to feed them 7270, without proof that they are indeed his
children, as is evident there in the X973 -
- 222091 Y 1INT PN PR DN Y IR NYAN BN NOINT
For the X713 there cites a Xn>92 which states; if he brought proof regarding his
older children, no proof is required for the younger children. This concludes the
Xn™2 -
- XY PONPY YN H12)N SWTPA RN 1IW KY 1YY WIHY 12 PYRY %29 9N)
And »"2 commented on this Xn>>92, this rule that 22107 %Y X1 ¥"X was taught
only in regards to ®2x7 "w7p (which is 7m7n), but not in regards to Pon;
regarding 1°0m° he needs to bring a X7 even for the o°1vp (who are 771X 0°2172). In any event it
is evident from that X713 that regarding both 0°1v and 07173 we do not depend on his word, but

we need some outside proof (at least 771X 0°2173 by 0°1vp) -
- 1129902 1999RNY NI ANT NI 39 MNP 395

"If his wife returns with him and the (small) children are attached to the mother (771X 0°2172) that is sufficient proof
that they are his children and he is 72170 02°9877 1aR1.
% This would (seemingly) indicate that if he did not bring a 021737 %9 /X", he needs to bring a 2°vpa v 7°X1 (even if
they are 77°nX 0°>17107!).
? No proof is required for the o>1vp if they are 73X 2°2172; however proof is required for the 2°917a since they are not
77NR 0°2172.
4 See “Thinking it over’ # 1.
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So how can 21 rule here that the father is believed to be %3287 his son 177 n,
without any outside confirmation?!

MO0IN answers:
— M09 NIN NIN 2297 XM

And the 0"27 answered; that 539 is a Xin and argues with the Xxn»12) mwn in 'on
7w17p and maintains that the father alone is believed.

mooIn offers an alternate solution:
= 1HN 1Y 29 DY NNNY PPOyn PN S9NT D197 %299 NIDIN PWVITPT NYNIDT 99IN O 12N

And the n'"9 answers that the Xn™721 7awn there in PwY7TP N207 is according to
>'"1, who maintains that we do not elevate a person to /71912 based on the

testimony of one witness® -
= "PON D599 MINIY A2 1A NWITH 931 595 13990 BNNT 912N SUTD)

And when "1 stated there that by 7°9nR 0°517) they are considered 2°1770 for “w7p
912577 that means all types of 71375 nwi7p, for instance 2'"'wi 777290 and Pon —

mooIn anticipates a difficulty:
- XY PPONPY AN BNN MINDT N

And regarding that which 5" stated there, ‘however not regarding }°om’, that
the 771X 0°2172 will not be sufficient for PonT; this seemingly contradicts what we are saying
now that 91237 *w7p includes PonY (since °" maintains oA 7107 PIVA) —

mooIn responds, the term 7011 there -
=%y by NIV PO 1D NANPY PONI? 199N

Means °ony in regards to relatives, for instance to punish with 779990 or 797w
on account of this child —

5 See previously 2,33 in the mwn. See (also) 2,72 (and n°v2°X1 77"7 '01N) that since "1 maintains 1on? 7NN oY,
therefore he requires two 07V (even) for im17n.
® Therefore according to *"7 that two 27y are required for (70m™) 717N, it is necessary for the father to bring proof
(two 2°7y for @177 132 and/or >R 2°2113 [which is better that an X"v] for a°1up 1°12). However °271 who maintains
that Pom*s 710 1P2vn PR and X"V 5"V 7107 19Yn, the father alone is believed since 1279877 1722 (is at least as good
as an X'"Y).
7 According to the 0" we have established the Xn>121 771wn in 1"¥17p according to "1 who maintains (see footnote #
5) Ponrh mnna 1oy and an X"V is not sufficient 7170 120877, therefore we must say that the proof of 7K 0°311
is better than an X"¥ (it is like 0>7v 1) since once we permit them to eat 710 they will be Pon1? qw3, which requires
07y "2 according to everyone.
8 ponTh amnnn 7YYRT AWK WWTS 03 AR AN 12IRTY IPRIAY D1pRA 9T 2200 ROT AWK WwnL oMy mmh ’ovHT
21w NMdBDIN.
° This means if this child (who was & an& 71173) had relations with his (alleged) parent he will not receive the
punishment of 72°p0 or 197w (based on "R 713 alone) unless there are 0*7¥ that this is their child.

2

TosfosInEnglish.com



('277) 81 7" 'oIn 2,70 M2 .7"02

mooIN proves his point:

= MPIND DY PIPID 9INT N30 1IN 239 NTIN) 1PONY N 99X 1IN 239 0NN PIONT
As the X3 concludes there (in Pw17R 'on) o'9 maintains the proof extends even
regarding °enys, for "9 follows his reasoning, where he maintains that we

stone (even if it is) based on MPIA (only)’.'”

mooIn offers an additional solution:
:[ONN MNTI AN NXANY TP9Y PRT Y INUNA NN 5193 1HN]

[Or you may also say, that here where >27 rules 71702 12°2877 1K1, it is a case
where his wife is with him and the children are X 775, where there is no
need to bring any additional proof, as the X713 states there.]

SUMMARY

°27, who maintains that the father is believed to be m217n 9°587 to his son, may be
arguing with the 71wn in w172 which requires a 7°X7, or that 71wn follows the view
of *"1 (that X"y 9"¥ 7117797 1PHyn PR), [or that s27 case is when the wife is here].

THINKING IT OVER

1. The 0"2™ asks, how is it that *27 maintains 72170 12°28:77 72K31, when from the 'n3
in WP it appears that the father alone is insufficient 70 12°3x:7%.'> Why cannot
we answer that °27 is discussing 71277 72170 and the '3 in PYITR 1s discussing 772170
xR

2. The 1"X answers that in our case it is ¥ WX (and 7°7MR 0°3170 7°12)." If it is the
same case as in 7172, why is it necessary for °27 to say that the father is X1 since
1t 18 17°2, when he is 7%R1 because it 1s "X 0°217 as the '3 states in ]’Wﬂp?!ls

3. According to the 1"X, how can we understand the stance of 1"7, when itis a mwn
nw97 that 72170 1979877 JaKR1?!

' This would seem to indicate that the dispute between " *"1 (regarding 1°0m") is in reference to the punishment of
72°p0, which in turn supports the view of moin that 1°onY here refers to meting out the death penalty, but not
regarding marrying a orn.
' This seems to be an addendum (from 2°3w> MooIN). See “Thinking it over’ # 2.
2 See footnote # 4.
" See 1.
' See footnote # 10.
15 See 2py> nn.
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